Take Home Exam III
Kinematics

1)a) In the solid state lab, there is a decription of Compton scattering, and then later a picture
of what you see in your solid state detector.
Please describe qualitatively what is happening n the picture. (Do you see any mistakes?){10 pts)
Please derive the mathematical expression for the energy of the “horns” caused by the backscattered
photon and the forward scattered electron. Be sure you described how these enhancements in the
spectra can cccur.(15 pis)
For the 511 KeV photon shown in the lab write up, caleulate the hkely positions of the “horns”
below the 511KeV peak.(5pts)

Ib) Please derive the expression for the energy of particle B in the decay 4 -+ B + C when the
particle A is at rest. Be sure to include all the steps and show that:(20 pts)
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Take Home Exam 111
Fusion
1)a} We have discussed several types of fusion in class. Fusion inside stars, fusion in a hot plasma
and fusion due to particle collisions. One process we didn’t mention is called muon catalyzed fusion.
Briefly, an isotope of hydrogen has its electron replaced by a muon. This allows other isotopes of
hydrogen to approach this muonic isotope much more closely.

Estimate the relative separation of the hydrogen atoms in an Hy molecule and in an Ha molecule
where one of the hydrogen atoms has acquired a muon. (You can reason this through or look at the
beginning of chapter 9 in Krane for a starting place. Note: do not try to solve this exactly, reason
through in an analogy to the hydrogen molecule to get an estimate.}(10 pts)

Now, calculate the temperature needed to bring 2 protouns this close together. le. Treat your
estimate above as the "turning point”, and work backwards to find the temperature {10 pts)

Ok, lets assume that this is a good temperature estimate for all the isotopes of hydrogen. Look
at the graph in the lecture on fusion and pick off the highest value of < vo > you can find for the
temperature you calculated. Now suppose there is a beaker with equal mixtures of the 2 isotopes
you chose and half of the mixture is muonic. What fusion rate/volume do you expect? (I would
look up the density of the liquid forms to perform the calculation}(10 pts)

Actually, a better mumber to get from this is the mean lifetime of a muonic atom in this soup.
Relate the rate of reaction/volume to the decay constant times a density. Estimate the mean
lifetime. Consider the lifetime of the muon. Estimate the number of fusion reactions a single muon
can participate in before it disappears.{15 pts)
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Take Home Exam I11
Decays

1)a) Which of the following decays occurs and which does not. Please explain why one of them
does not.(10 pts)
AP~ pt o
A? s o
b)Can the following decays occur? If not, why not?(4 pts each)
e ok S g o
ﬁ{) —_ K{J + ';,To
Ve 4 e = My + Uy
Ve + Ty = Yy + T
Em e K K+ K~
P+E87 = K™+ Kt + K~ 4t

ZT = BT 4T,

¢} Please draw the Feynman diagram for the following 2 inseractions: (you may find your notes
or the homework solutions helpful)(6 pts each)

pt — et 4+ u, 47,

at — pt 4,
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